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Show all your work!

College Algebra — Joysheet 1
MAT 140, Fall 2014 — D. Ivansié¢

1. (12pts) Simplify and write the answer so all exponents are positive:
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2. (4pts) Convert to scientific notation or a decimal number:
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000002387 = 2777 10

3.32906 x 10° = 232 906

3. (8pts) Simplify and write in standard form:
a) 22(Tz+1) - (z—4)2z+5) = Ty’ ¥ = (g,{t Py 5x - 20)
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4. (15pts) Use formulas to expand:
W @-NC+T) = (24)- 7 = 4%-¢9

b) (3z + 5y)? = x}—r? 1% th‘r( ) D' +3Dx3+25’b
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5. (15pts) Factor the following. Use either a known formula or a factoring method,
a) 2% — 10r — 24 = (x- 2)(x42)

FI"M“?{ __”'1.1
Tin ==10
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6. (6pts) Write the following sets in interval notation. Then graph the interval.
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